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Math Il Average Rate of Change
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1. Look at the graph off(x)=x*+1 . What is the average rate of change between [-1,3] ?
Draw a line between the two points and explain what the rate of change that found means.
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2. Look at the graph of f(x)=-(x+3)*+4 . What is the average rate of change between ]
[-5,-3] ? s RN
Draw a line between the two points and explain what the rate uf changethc(t/feund mdané “SIR D i
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2. Look at the graph of f(x)=-(x+3)"+4 . What is the average rate of change between \37- - "5\

(-5,-3] 7

Draw a line between the two points and explain what the rate of change that found means. x..L _x
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3. Look at the table below. What is the average rate of change between [-1, 3]?

X y R *‘(*2-1) ~ \k __ E]
2 22 s = =5 =4
gx@ 197 e B -4
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4. Look at the table below. What is the average rate of change between [ -4, 4]?

X y 16 -0 (@)
:; Xy 16 ¥, 4'&“\ - T: @

4
0 0
4 N, 1

For the following functions, is the average rate of change greater between x = -2 and x = 0 or between
x=0andx=2?

Ks.f(x)=%(x+2)2+3\f6.g(x)=—x2+8x+3 xr7 h(x)=5x2—6x+4vx
= _

reatecl witn Docerl

— ] ) - 3

&

Made with Doceri



Average Rate of Change.pdf

Page 4 of 7

For the following functions, is the average rate of change greater between x = -2 and x = 0 or between

r&g(x)=—x2+8x+3 \
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Math Il

8. A drop of rann falls from a height of 1,400 feet above the ground The function

Average Rate of Change

h(t) = -16t° + 1400 is used to model the raindrop’s height, h(t), in feet t seconds after it
starts to fall. What is the raindrop’s average rate of change 2 to 3 seconds after it falls? USE

CORRECT UNITS
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g The table below gives the velocity of a
skydiver f seconds into free fall.

—Ho(s\l +1400
(3 1250)

Time in
seconds

0

10

20

30

40

50

Velocity
in fps

0

147

171

175

175.8

176

176

A. Find the average rate of change of

velocity for each ten second interval.

R Durino which interval wae the averaoe
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The table below gives the velocity of a
0 skydiver t seconds into free fall. ’ r"‘"‘-"'“' R 0.C.
y [Timein [0710 [20 [30 [40 [50 [60 0:10 \&.77
seconds
Velocity | 0 | 147 [ 171 | 175 | 1758 | 176 | 176 10020 2.y
Y |infps
20:30 .Y
A. Find the average rate of change of
velocity for each ten second interval. 30:4o .08
B. During which interval was the average 4o: S0 . b A
rate of change the highest? 0:10 5D ¢6 o

C. Use the average rate of change from
10 seconds to 20 seconds to approximate
the skydiver’s velocity 15 seconds into

free fall. ~ “00 £ps

D. Use the average rate of change from
0 seconds to 10 seconds to approximate

the skydiver’s velocity 8 seconds into
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